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k(a+b)=ka+kb

(a+b)’ =a?+2ab+b?
(a- ):a2—2ab+b2
(a+b)a-b)=a?-b?

v
(x+1)° +(2x+3)" = x® +2x+1+(2x)* + 2x 2xx 3+ 3?
=X° +4x% +2x+12x+1+9
=5x° +14x+10

Jsla

(x+3)2 +(3x+4) = (x2 +6x+9)+ (9x* + 24x+16)
1. = X* +6X+9+9x* +24x+16
~10x? + 30X + 25

(x+4) +(5x—3)7 = (x? +8x+16)+ (25x* —30x +9)

(3x +5)(x—4)— (7x+2)* = (3x* —12x + 5x—20)— (49x + 28x + 4)

=3x° —7x—20—-49x*> —28x — 4

=3x> —49x* —7x—-28x—20-4

= —38x° —35x — 24

(oAl

x+3)° +(3x+4)° =
x+4)" +(5x-3)° =
0x—15)" + (5+8x)* =
5+ 2x)3x +6)+(x—-7)* =
2x—4)8x—~7)+(9-3x)* =
3-x)7x-5)-(8x-3)° =
(12x-11)* - (3-13x)* =
3-5x)’ —(5-x)3x+4)=

(
(3x +2)(6x —4)— (5x —3)(5x +3) =
( 2

10.(6x +5)(6x —5)—(3x + 2)* =

+
+

(
(
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(
(
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i = 26x° — 22X+ 25
o (10x-15) +(5+8x)" = (L00x* ~300x + 225)+ (25 + 80x + 64x*
= 164X — 220X + 250
4 (B5+2x)3x+6)+ (x=7) =(15x+30+6x* +12x)+ (x* ~14x+ 49)
=7x* +13x+79
o (2x—4)8x=7)+(9-3x) = (16x" ~14x-32x+ 28) (81~ 54x +9x?)

= 25x2 —100x +109

(3—x)(7x—5)—(8x—3)* = (21x—15 - 7x? +5x ) (64x> — 48x+9)
6. = 26X —15—7x* —64x> +48x -9
= —71x% + 74X — 24

(L2x—11)* - (3-13x)” = (144x> —164x+121)— (9— 78x +169x° )
7. — 144x% ~164X +121—9 + 78x —169x>
— —25x* —86x +113

(3—-5x)° —(5— x)(3x + 4) = (9— 30X + 25x? ) — (L5 + 20 — 3x? — 4x)
8. =9 -30x + 25x* —11x — 20 + 3x°
= 28x° — 41x 11

(3x + 2)(6x —4)— (5% —3)(5x + 3) = (18x* ~12x +12x —8)— (5x> —9)
9. =18x* —8-5x* +9
=13x" +1

(6x+5)6x —5)— (3x + 2)* =(36x? — 25)— (9x* +12x + 4)
10, =36x° —25-9x% —12x — 4
= 27x% —12x — 29
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